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Abstract:

-Main Result:
g=1(9.7+0.3) m/s?



Theoretical Background:

2 2
mg.=m>2 = g.= 5. The solution to that differential equation;



Procedure:
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Data Sheet:

Height (m)| ty (sec) | t; (sec) | t3 (sec) | tavg (S€C) t logh |logtg,
0.4 0.285 0.287 0.292 0.288 0.083 —0.398 | —0.541
0.5 0.318 0.319 0.319 0.319 0.101 —0.301 | —0.497
0.6 0.351 0.350 0.355 0.352 0.124 —0.222 | —0.453
0.7 0.379 0.381 0.383 0.381 0.145 —0.155 | —-0.419
0.8 0.407 0.404 0.407 0.406 0.165 —-0.097 | —0.391
0.9 0.432 0.43 0.427 0.430 0.184 —0.046 | —0.367




Calculations:

slope = 486 =29 > g =2 X 486.=9.7m/s>

................................ ~9.2.9.=2X486=97m/s* ..
The error.in this value; 22 = 250P¢ _, jq — 4stope o o — 20504 v 9.7 = 0.11.m/s?
g slope Stope 4865




Results & Conclusions:
g=1(09.7+0.3) m/s?
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